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-1- 

Answer ALL TWENTY FIVE questions. 
 

Write your answers in the spaces provided. 
 

You must write down all stages in your working. 
 

1 Solve    3x + 4 = 17   
 
 
Solve    7 − 4x = 10   
Show clear algebraic working. 
 
 
Solve    13− 2x = 6   
 
 
 
Solve    5(x + 3) = 30   

 
 
 
Solve    4(x −1) = 18   

Show clear algebraic working. 
 
 
Solve    6(3y +5) = 39   

 
 
 
Solve    6y − 9 = 3y + 7   

Show clear algebraic working. 
 
 
Solve    6x +13= 2x + 7   
 
 
 
Solve    3m+5= 7m+ 3   
 
 
 
Solve    2x −1= 5x − 3   
Show clear algebraic working. 
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